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4 ~ Hates ! Imidia En the Financial Sl:ﬁhllﬂi

| GENERAL Awmss 14 Introduction.of Base Rats Report submitted 1o iy ? i
L For which one of the following 5] Mone of thess 11] Focus on flnancial consistens |

Y e =

purposes, Mega Food Parks
soheme was introduced by the
Covermunenial indla ?
Do oprovkde better price 0o
2, Vo fmproee the produsctidaty
uf [oed crops
|3} Ta cantrol the prices of food
ibema
14} T wvpld wastage of fraits and
vegeinbles stoced lor expont
[% Picaes of thess
2. Which of the followinig terms Is
MOT wsed in banking?
[1) Dbt Card
(2 Credit Card
(3 Eisamcard
(4] ELISA-Test
5 Moo of these
3, Which af the following ks the rea-
san, oadng o which Government
charges export l;lul]rm BOME EX-
port items 7
1] 1t 18 to get benelid of high In-
Lernatioaal prices
2] T lsvpeovre the tox collection
Largets
(3] 1t ks as per intermational prac-
LS
4] T enswre the smooth avail-
ability of the Hems i [ndla
{5] None ol these

4. Which of the following is/are (he

objectivels] of sur monetary

palicy?

%) Anchor infation expeclations

[B] Actively manage Bquidity

[0} Malntain interest rate regime
conaddtent with price output
and financial stability

(1) Oy (A

(2 Al LAY, (B) and i)

{31 Bath [A) and |C)

() Only(B] (% MNone ol these

B. With which one of the ollowing

{ields was Pandit Bhimsen Joshi
associabed 7

(1} Dance ) Music

[3) Shert-stomy wriling [l
Plpvels

(5] Mone of these

8. For Which of the lollowing pur-

pases] BBl has constituted a

Working Group with Shri Deepak

Mohanty a8 Chadrman ?

(1] Deregulation af primary mar-
ks

(2] Deregulation of secondary
markets

(3 Deregulation of Savings Banilk

7. Which al the follewing will s=t up
core banking Infrastmacture for
rural banks 7

(1] SIDeBd (2 16A
[3] RBI - 49 5Bl
[5] HABARD

8. What is Grbas Domestic Produd ?
(1] It is thie eoat of produciion of
all final goods and services
muace b the country
(2} 1t is the cost of services madse
within the berders of @ coun-
Lry in & year
(3 It is the market value af all
final poods and services made
im the country
(4] 1t s the markel value af all
final goods and services made
within the borders of a coun-
bry in & year
(8] Nane al thess
8. Which of the lollowing metals b=
used for generation of Buckear
Power ¥
[1]) Sibver 2y Giodd
([l Uranhem - {4) Copper
(5 Barium
10, In which one of the following
States, Miyamgir Bawete Mining
Progect in proposcd (o be set 7
(1} Stisha 2y Jhar
(3} West Bengal (4] Bikar
(5} Chatisgarh "
1L Which of the following termyy
WOT used in Ecopnomics? 0§
11 Demand and Supphy T8

12 Ad Valoram Tax X
{3] Break cven )
[4) HIV posilive 3 ;',;

[5) Cosl benefle analyss O
12 Whnt is ‘Anancial inclusics’ ?ﬂt
(4] Enay pocess (o bank ac
for safle parking od sasi
(B Availability of ceeap o
through approprintely
signed |pans for poor and
Envcome boasslyoaicls amd
EnlTEprETE RS
|1Ch Availability af basic fi
p-ndmmlktmaumnu

(1) Dby (A (2 Omby (B
(3 Only |C] 4
(4] Both {A) & [B)

(51 All (A). 1Bh & [C)
13, Which of the lallowing terms
uaed in Economdes 7 F
1] Heynestan 2] n-:lna:u-ﬂﬂmt
(3] Aftriny Matric ;
) Gens Flow
{5} Mo of thess al
14. Which one of the following is 11
directive given (o the Go,

15. [n which one af Lthe [ollowag |

12} T reduwce fscal deficlt. ™|
(3} To ensure GOF growth
[4) T reduce revenue deficit
[5) Mone of these

States. - Jangi-Thopon am |
Thopan -Powar] Power F‘Iulﬂﬂ‘-"_;
are propased 1o be set up?

&K i H.P.
(& LR {4 Manipus
(5] Meghalays

18 Which ane of the rnIIur-dngW

17.

18,

[

key palbey rates used by REIY
influence interest rtea? i
(4] Bank Rate/the Repo Raie |
(Bl Reverss Repo Rale |
ICI CRR/SLER
111 Coby LA (2} Only (8]
13) Adl A, [3) and [C]
1] Cmby 1)
15 Both [A) and (T
Which cne of e Tollewing rates
signal the REI's lonyg term catioak
an Interest rales?
{1] Repo Rate
|2] Reverse Ropd Rate
3] Bank Rale
4] SLE
|m] CER
As per newspaper peports, USA |
prd many olher coundriss are
supporting India's bid for a per- |
mmeanent seal in
{1} Ward Trads Osgandsation
12) Warkd Bank
13 IMF
|4) N Security Councll
151 Mome of these
Which of the following is net an |
cbjective af the Jawaharlal Nehn |
mational Lirban Reneewal Mission? |
(1) Development of urban infia- I
siructure
[2) Inplusive growth al cities H
%) Provide safe drinking water to |
ull |
(4] Presride :i.mpl‘l:!ﬁ:d Tullic trns. I'
poi
15 Prowide 100 days mph_-.rmuﬂ
to all eligible persons
Which af the follewing is lwtro- |
dwbnd by Banks (o increase E-
nancial inclusian? |
(1] Stmulus package |
12| Internet Banking
i Business correspondent
1) Corporate Banking
15) Hone of these

L. Which of the following is a type |

of banking application which |




#ithorises a bank to block a spe-

cilic sum of money In an

Individual's bank account to be

taled Iman Ingtial Pubic OfTer

Py 7

MeTGs  @asma

43 Prefunded Cheques
_HISCSBs  (5) Nane of these

R The Reserve Bank of India re-

ently advised the Government of
Mla 1o spend and loosen the
3 al lts puirse. How will this
benefit the banking and nance
seciar 7 L
1&) It will ease lbgquidity crisis in
thie marked
(B 1L will biglp banks borros kess
Iroen the RBL
[C] It wAll pring doem indlatsan.
(1) Cmdy (4 and (B
{2) Canlby [B1
3] Cinby [B) and (T
[+ Al {a. VB and ()
[5) Mone of thess _
23, The USA and South Keres slgned
& Fre= Trade Agresment recenthy.
How will these agresments
heelp the countries? :
&) This will enable USA fo im-
port as muth goods as it
wishes.

(B} This would increase the US
exparts 1o Seuth Korsa,

{Ci This will Bt both of them (o
maidntaln balance of payment
In order. .

(1] Cnkby LA ¥

(2] Oy (B8

(3) Onily 1Ad and (C}

() Cnily (B amd [C]

181 All (). (B) and [C]

24. Which al the fllowing owards i
given by UNESCO 7
[1] Kalinga Prize
[2) Oear Award
(3 Man Booker Prize
{4) Pulitgier Prize
(8] Mene af these

#85. Which af the following schemes
was NOT launchéd by the Gov-
ernment of India speciflcally 1o
i proverty in rural aneas and
improve the general Bving stan-
dard af the people in India?

(1) Bharal Niman
12; Panchahesl
() Pradbasn Mantrd Gram Sadak

Yigjana
) TRYSEM
18 Antyedayn Anna Yojans
26 The rate of Interest charged by
R for kending money Lo varkns
commercial banks by rediscount-
ing of thie Bills i India b= called

{1} Exchangs Rate

[4] Bank Fate

i5) Interest Rate

27, Which of the following Diamond
mining companizs has recenlly
g4 & permil 1o explore DEamand
al Mahabubnagar incAndhra
Fradesh 7
| L} Adrosn 13) Dlpswanas

{31 Maoaal Mamerd Mining Com-
pany
|4] Dhe Bewrs -

15 Diamend Trading Company |

28. FIFA Warld Cup 2008 will be
nrganised in which of the loliow.
Ing countries?
[1] Bussix [Z] Grmany
(3] Brraczil 4] France
[5] Maly =
20, Excise Duly i levied on which of
Lhs Tollorasding’?
(1} Agro producls
(2} Imporied gocds
i3 Marmelacturing of goods
1) Bervices provided by holels
and wravel agents
150 Al of these
0. Karim Benzema, Ronalde and
CGrorcmla Higuain are three names
fampus for their perlermancs in
ithe feld of
1] Cinema
2] Sparts
(3 Literature
(4] Jowmalism
(54 Poliics
31, U3 websomes TAFL gas pipeline
agreemend wias T NEws in Some
newspapers. Which of the Rl -
1I:I,EI:I:1.I.I1.I.I’.|-I!H‘|B“1 A partner in
TAF! praject?
111 India
|21 Tharksy
13 Adghanisian
[4] Pakistan
(5} Adl are not part of the praject
&2, Which af the IDIHIP#‘[F'IE Ccrnkiries
= NOT a member of the G-20 7

(1) Bouith Fores
2} Brazi (3} China
I USA % Iran

2, Whoamanget the fllowing 1s mol
a Mabel Prize winning awihar ¥
(1) Orhean Puifrisil
|F] Doris Lesaing
(¥ Oclavio Paz
(4} V. 5. Naipaasl
34, W Tﬁ:u%?;l this following & &
famous Badminlton player and
has represented India in many
international events 9
| 1] Sanila Mirza
1] Baichung Bhutia
[3] Aparna Popal,
(4] Dhanraj Pillay
(5] Ishant Sharma
36 US Prestdent Barack Obams, cn
Apell 24, 2014, nominated some
TrvlEan-Aumericans io the |4 merm-
ey &dvisory (ramaniasion on Asian
Armericans and Pactlc Islanders
|AAPEs]. Who among the folboae-
ing is not oree af them?
[1] Subhash Sen
(%] Fervl Chawdhary
[A] Shekar Narastmlyan
(41 Manllk Fanchall
(5 Adl are rominated members
38, Which mevie won the Award for
Best Picture at the 15th Interna-
tianal [ndian Film Acadeomy (IEFA)

Awards 2014 held In April 26147
[¥) Eahani

(% Bhaag Milkka Bhaag

(A Basfl |

4} Talzash

|8] Mone of these i

&7, Gabriel Garcla Marquez, the Ra-
bel laureate in Hierature, died at
the age of 67 In Mexico on April
17, 2014, Some of his famous
movels include
[ Chronscle of a Death Foretald
[Z] Lave ir thse Time of Chalera
(3l Awtumn af the Patriarch
(4] All of the above
151 Qnby (L) and [Z]

38, The Reserve Bank of India on
April 1, 2014 adopted the Con-
sumer Frice Index [CPI) as the
key measure of Inflation, based
on the recommendations of
which Commiiice’s report on Re-
vising and Sirengthening the
Manetary Policy Pramewark
(1} Urfit R Patel Committes
[# D K C Chakeabarty Commlt-

tee
(3 H R Khan Commiiies
4] R Gandhl Commities
{83 Mone of these

88, Which body/forganization April
15, 2011 4 sasd that siock exchangs
may consider shifiing securities

of seven companles to normal
trading category from restricted

segment?

(1] Reserve Bank of India

2 Securlttes and Exchange
Bleurd of India

1% Confederation of Indian hsdus-
Lry

(4] ASSOCHAM

(5] Mone of these

40, According to the Aslan Develop

menl Dutlock 2014 released on

April 1, 2014 by the Aslan De-

velopmenl Bank, developing Asia

s expected to extend ils sieady

grewih from 8.1 pereent in 2013

fio what percent in 20047

i1l 8.2 % 12 6.4 %

3 6.8 % [ 8.8 %

5] Mome of thess

GENERAL ENGLISH

Directions (41 = B0j : Read the
fallowing passage carefilly answer
the guestions gheen below . Certaln
wards have been printed In beld to help
woul locate them whike answering some
of the questions
Raghu had been arphaned when
he was qulie young so he had barned
to fend for himself. One day he was
very hungey. Wondering what (o oo,
ez happened (o pass & sweet shiop and
hieard the shopkesper tell his young
assistant. “Look thie shap while L
take a map. Call me chly I seemething
w«wﬂmm‘mlﬂm
appartundty. He waiied for a short time
and then entered, 1 am the owner's
best friend's son. Oive me the besd
sweets In the shep,” The boy was sus-

and asked him his name. "My
rame s Fly," sald Raghu helping him-
gell to some jalebis, As he sat sating.
the oy ran bo the owner, “Fiy s eating




the sweets. What sheald | do ?° The
sweet shop owner wis In A deep sleep.
Hie miambled, “How mach can a By eat?
Let hilm: e, ™ Then be furmesd over and
started snoring kuadly, The poor boy
could da nothing tawt watch him de-
malish o plate of jalebls. Finally Ra-
B tock two baxes of the best sweels
i thee sheop and ket without paying

Thess baxes be presented to Ma-
hadev saying, “Here s a poesent for
pur clty's greatest man. Flease accept
this. [ arm & poor man and have noth-
Ing =lse to ghee you." Secing the b
full nfm:nuhﬁu.m”ﬂlﬁﬂﬂ. whi
rarely parted with mesiesy. was diligh,
ed. “SIr" continuied Raghu. "l have gnly
GaE regquiest. May | have the emply b,
eaback please™ Mahnder was anby in
terealed in Lhe sweets so be said gea-
clously, “Of course. fsk my wile g
gve you two vessels for Lhe swieels,”
Faghu wend o Mohader's wife and suid
“Your husband hag asked you b ghe
mee two gald coins.” The woman wha
was cosking lunch was asionihed anil
sald, "Are you cul of yonsr mend " by
hiuesbaned wonald never say mech & thingr
Sa Raghu ealbed ouwl 10 Mahadey, "o
wile is relusing 1o give me whal | asked
for.” Mohadey was negetiating a hand-
womse deal in his shop. frmitated by Lhe
distursamnss e called oul. "Give ham
whal he wants.” So Raghu lefl with the
gold oolng in his pockel.

Days went by and Raght mads bis
Hving through his smooth talk and (all
pramises. The King heard abaul thes,
Roghu was brought Lo him under ar-
resl, The King heard his siory 0 &l-
lempe and then said, "5 you ane 5o
clever study with the besd pundits o
the land. Use your wits for the beiler
ment of the kingdom.~ Raghu was si-
lent. Mo cne had pralsed him or ollen:d
him a better ife before, He accepiod
the Eing's terms and ane day came 1o
be knewm as one of the wiseal ol ks
minisers

41, Which of the follreing i ROT
true in the context of the pas.
sage ¥

(1} Faghu was cunning and @
pendent on his wile & g
viwe.

(%] Mahadev was & miserly mer-
chant.

(3] Raghu's parents had died
when hie WAS YOUng.

4] The king rarely consulted his
ministers belore making & de-
ciaign.

1% Baghu toak Uhe king's advic!
to use his intellipence i help
prople.

42 Why did Raghu vislt the sweel
shop ¥

(1] Thee samedl of sweels distract-
ed hilm from his hunger.

(2] He was hungry and wanled
to buy same SWweels.

13 He knew he would gl swesls
far fres since his father had
ereowm Lhee owrir.

[4) He wanted to buy a gt lof
Mahader whom he admired.

5] Mone of these

43. Which cf the following canmat be
sald about the king ?

|4 His decision In Raghu's case
Wik @ jusd OTee,

(Bl He was too lenicnd and gave
people o seoand chance

181 His subjects took advantage
of his kindness.

1] Ol L)
2] Omly (B}
i Onby ECH
4] Bath [E] and (C) T
5] Nane of these

dd. Why did the boy allow Raghu to -
leave without paying for the

bl =

v gneeels T

(&) He did nosl wand o offend &
good customer by inslsting an
Faymnent

@B He did nod want 0 start an
argument and wake up the
T,

0] He saw how hungry Raghu
was and fell sarry [or hikm

£ (1) None

F 2 Omly By

I (3 Both [A] and (B)
i Ondy iCl

A, Why did the cener leave the
% young boy in charge of the sweet
f sk @

{141 To teach him how to run the
Business.

B b The cwner was sbecpy amnd
- wanied [0 resd

i &3 There were no customers In
. - G shop at that time.

) He knew the boy would call
. bim if 8 custemer arrived.
Mo of these

1= emply sweet boxes 7

; -'_._‘ He planned to get an oppor-
i tunicy ta irick somieone cles.

| Sincs the sweels were stalen

i e A ot want to leave any
e
it et St shenllar In mean-
e word printed i bold as used
47. DEMOLISH
(1) Fagin 12} Break
[ Destroy (4 Consume
5] Crush
48, POOR

pirections (48-50) 1 Choose the

e wabichy s et orppeesidite Lo AL
mmt-uﬂp-tnudhhﬂiuuuﬂh

the paskige.

. GRACIOUSLY
1] Rudely {21 [gnoranily

(5 Indistincthy

50. DEEP
i1} Cakm 2 Lale
I3 Light i3} Weak
(5] Extreme

Direetions (51-55] : Which of the
phrases (1), (20 15 and (4] ghven below
each sentence should replace the
phrass gwedi IR i the [olowing
senlends 9 grammatically
cogrecl Il the seritencs & glven correct
as |8 is and no correction la requined,
meark (5] as the answer.

H1. W hies almilary come againet
problems during the cowrse of
our work and have sotved them.
11} slmiarky come (orarard
[Z) come pross similar
(3 simiarky come roumd
4] te conte along similar
[l Hocormectbon Pegeired

52, Belone leaving, without you for-
getting to compliment them for
their geod work.

{1} neot forgetiing

2} you have forgot

% do not farget

14 mot to forgel

|5) Mo carrecticn requined

53 Thamkful to a combined ot
we were able to achleve Che thr-

gEt,
(1] Thankhul for cur
(2] Thanking the
() Thanks loa
(4] Thanis through which
19 Mo correciian reguired
He ia mat & pald employee of the
school ar the govermment but
works for an NGO,
[0 | & paying
[Z] has been a paying
1% i= nedthsr A paid
4] = nol being pald
5] Mo correction required
55, Withoul a copy ol Gur raisn eard
wour application is met bees o
PrOCEES.
{1} heaa ol been process 121
is not able to process
13} weill namlikely e processed
l4) cannoi be processed
|5 Mo correctlon requirsd
Directions [S8-80] : ln sach
guestion below a sentence with four
wonds printed in beld type is given
These are auembered s (1), (2], (30 ami
[4). Oae of these four words printed i
bold may be cilher wrongly spelt or
isappropriate in the cantesxl af the son-
tepce, Find aul the word which i-
wrongly spell or inapprapriate. If 2y,
The fember of thal word I8 yoner Ln
swer, I all the wards printed in Rkl
are carrectly spell and ks apjarupn
aie in Lhe coniext of the sentencs miark
(5§ I All cormect’ a8 YourF pnswer.
88, Explakn (11, whiy you belbewe (21
e Fjuﬂ-u“ (3 sheashl L
discontioued. (4} All corr=ct |5
§7. Ifyou employ |1/ more system:
atde |27 methode |5 wow o bess-
er 4]/ your coEls. All comnect |5
S&, Of ithe basles (L) of this data
2}y i is worthwhile [/ 1o Lk
this rigk. (4] All correct [
88, Our pressxd | 1] projecis arema-
ning (2} on schedubs (31, and will

be completely (4] one Ume. &l
carrect (5]



B0 W haee matieed (1)) vou in ad-
wamce (2 regarding (31 the re-
plemal 12 manapgers conlerenien,
AR correct [5)

Directions [(61-68] @ Rearrnnge

thee Following six sentences (4. (B {C)
(D, {Ed and [F in the proper sequence
1o foemm & meaninglul paragraph: then
answer the guestions gren below them.
1A Hizwile travelled hundmsdy al
kilomeires o the place ue
demand an explanatiun fruo
the King.

(B The Fing was knowm as a greal
WHITIDE.

01 “You choae [0 congquer ws bl
do not rule us peoperly!” wis
the reply.

ol He had conguersd mamy

COLTAFEEE.

(Bl He =aid angrily, "How can yow
held me reaponsible for
ﬁmﬂﬂ:&:hﬁ happensd 50

r

P Ot iy thimves attacked and
killed a merchant and his son
in one af them.

61. ‘Which of the lallowing should be

{he LAST (SIXTH) sentence al-

ter reasTangement?
B @ c
3 D il E
5 F

&2 Which of the following ahiould be
the FOURTH sentence afler re-

arrangemens’

i & (A
Mc 4
HE

6, Which of the fallowing should be
the SECOND senience after re-

arrangement 7 )
imna 2 -
I3 D Hl E
= F

Bd. Which al the feflowing should be
the THIRD sentence allér pear-
rangement 7 :

i B 12 C
3o 4 E
(L

65, Which of the following sheouald e

the FIRST senlence Aller rear-

rangement?
(11 A 2 B
[ c el D

= E
Directions [88-T0) : Read each
sentence 10 find out whether there 1s
any gramumatical error o idicsnatic er-
ror in i The errar, i any, will be in
one part ol the sentence. The number
af that part 1s the answer. I there |s
na erres, the answer is 5. [lgnore the
errars of puncluation. il any].
6. Which sectors | 1)/ have been al-
fected (2} the mast of (31 the
bl recession T (4] No ermof

&7, Ome of the (1)) executives wha
work [2)F at the head office (3]
teas conflrmed the news. (47 Me
arror |5

88, It took mys=if 1]/ four months
1o {2}/ comdroe them to (Y ke
thia step. (41) Mo ermor (5

80, Anitas new office (1)) s quite spa-
clows but 21/ moest of the fumi-
ture i (3 obd and should be
changed. (4] Mo emor (5)

T0. According tothe terms | 1)/ of the
agresment we have o (200 pay

five pErCEnt commissions 3 b

ihe travel ageni. {41/ Mo emar (3]

DHrections [“?!I—i-ﬂlh.' In the m};
kowing passape Lhere are hlanks, eac
al which has toen numbered. These
numbers are printed below the pas-
mage and agatnst each, ive words are
sugpested, one of which fits thi Blank
appropriately. Find cul the appropr-
ate woed in each case.

|71 thie Gramesn programme be-
camme better known arsund the warkd
wie staried recerving (2L of letters and
visits from people. Scams wanted o
knoaw more about the programme, oth-
ers wanied (73] te stan a Grameen
programme in theis gwn country. Ta
oope with this [74) demand for infor-
mation and lraising we [T the
Gramesn Trust in 1959, Al the end al
the tralnkng many tied to start their
cam programanes bt they could nct
[76] the necessary funds.

We started receiving requiess lor
Tunds [ram them Sowe [TF) Uheir re-
quiremenis for the next five years and
realised that we nesded S 100 million.
We submitted our reqlhest (T8 op of-
ficials but received no [TH, We then
came up with & plan - why wait fr

et 7 I che malon penple cone
Eribrubecd %100 (80] we ookl radse 5100
millsan, We succkeded

TL. (1] Soon [} fim
3l Until [4) Althaugh
184 For

T |L) recny (2] gromg
|3 plenty 4] numerous

2] bumaele

7A, (1] help 12} discuiss
3 puypose |4) sign
18] s

T4 (1] expand IZ) groesm -
13} hiking (4] imcreasing
|5 risen

T8, (1) establish (2] bBegan
(3 butd 4l found

() ereated

78, (1] get 12 fuls
(4] mucceed |43 lend
5] et

7. 1) count (2] calculated
13 amouanted (4] tally

54 todal

TE. (1) o 2} inchuded
(3 iap after
=] oreer

79, (1] dividend (2 appeal
13 benelit [4] retum
15 response
B0, (1) solehy (2] persomally
[3 alons (4] each
ndEvichual

QU?HI‘ITATWE APTITLY

Directions [81-85]) : Whay
came in place af thie quicslion
im Uhe Golloesi g Quassniong ?

8L JaluTxim?-175 =% @

[y 105 L] 95
1% 115 41 15
5] Mone ol these

B2, (0.125)* + (025" = |05

i 57
i1z 12 18
FLTT 141 1o

|54 Marme ol Thess )
B G459 ol B00 = 364%ul ]
M + 38 )

L) 32 fdh 38
i3 42 M| 438 .
(=) a4

B, SE7T-4A24 ¢ 184 = Fx O
(1) 3z (2] 55
& ar [4) &7

5 Wane of these -

=] 5] 1 11
T B SR T
-] B ﬂ'sl? =3+IE

3 ]
£ g1
I 3 2 T
£l 1l
g R
(5] Mo of these
Directicss [B8-B0) Wha will
coamhe in place of the gueslion mark [4
In the following nembss series 7
BE 117 359 525 Sa; &2 O
|1} 654 [ G4
Y 634 () 30
FH Mone= ol these
BT, T 11 %3 51 103
11} 186 2] 1EE
13 185 4] 1ET
{3 Mone of theae
B, I8 27 asEd 130 (H
(1} 180 12§ 153
(3 180 193
5] Mone of thess
B 3% 43 6% 99 145 M
1) 301 [Z] B0
3 205 [ 211
(5} Mone af these
B0, G55 430 314 250 223 [
(1] 205 2 210
(3 185 4] 180
150 Monie of Lhess
B1. Train-A crosses a pale in 25 s
anids and anolher Train-B cross
5 @ pole in 1 minale and 15 s
onds. Lengih of Lrain-A = hall
length of tradn-B. What 15 il re.
spective ratio betwesn the speeds
of Tradn-A and Train-B 7
(1132 21 3:4
M4:3
{4 Caniru. be det ermmdned
[T Moawes al these
g2, Veena's manthly income is egual
Lo the cost of 34kg of nuls. Cosl
of 100G of nuls i egueal 1o Dhe ool
of 20 kgs of apples. Il cost of 12
kg of apples s 7 1500, whal is
Weena's anngeal splary ¥ (Al some
pleces armasal income and at some
place monthby income are given)
(07 1 lac 20 thousand
27 L lac 2 thowsand
13 7 2 lacs 20 thousand
) Canursat be determined
1 Mones of these
#3. Fohil has some G0 patsa coins,
somee 2 rupes colns, some 1 -
pise coing and some 5 napes colns.
‘The valee of all the colns is § 50,
Sumber of 2 nupes coins is 5 maore
than that of the 5 nupee colns. 50
palas codne are double In number
than 1 rupes cokns, Vakhee of 50
palaa coins and 1 mipes colng is
¥ 206, How many 2 rupes coins
does he have 7
S In4 [ ]
L@
(4) Cannot be determined
(H None of these
. Puneel scored |75 marks inoa lest
§. and folled by 35 marks I che
pasadng pereentage o thr toed i



cumdirence of the circle is egual
Lo the asea of a square of side 22
tm. What is the breadth of the

Whe is least efficient ?
1) Bays 2} Cirls
I ‘Women

(4] Men

B7. The sum of sight conserulive svin
nurmibers of set- is AT6 Whal is
the sum of different seil of fve
oonaerulies mumhers whoee low-
==t nember 15 15 mare than the
mean of setA?

fu) ass 2F 320
15 X24 {4} 284
150 Mo ol thes:

BE  The ratia tween the adjacent
angles of a parallclogrom s 2 - 3
respectively. Hall the smaller
angle of the paralkliogrum {8 equal
to Lhe smsallest angle of & quadri-
lateral, Largest angle of quadri-
Bateral b four times jts smallest
angle, What Is the sum of largest
angke of guadrilateral and Lhe
smaller angle of paralislogram 7
(1) 252° 47} 235
1 144* e 1sdr

will he pay (0 45 days 7
i1 ¢ 1008 (2§ 1,078
3 7 10099 My .088
(5 Nome ol these:

100. In a school there are 2000 siu-
demvis ot of whom 36 per cent
are girls Each boy's monthly le

fiew I 25 per cend leas than a boy.
Wit s the todal of the monthby
focs of giris and boyve logether 7
1] ¢ &.73400 (B ¢ 6,67.300
(B 7 B.TEI00 (4] 7 873,600
{5} Neme of these '

Directions (101-105) : Study the

Ocemprgs W Compass @
B Gamguny &

L]

MO4 PR JEE MOT P A

THLE
100, If 25 per ceny of Lhe numiler of
Ledevisions manulact woed By o
pany A over all Lhe pears watcth
er were Dlack and whae, Uwen
whial wiks Lhe puanler il adknosd
Lelevisicns meenuiscyunsd b oom
pany-A over all the yewrs iogUh-

er?

[1] 1.4 lacs I 14 'I:U:}i.lI
X 1.8 lacs ) 180040
= 1.5 lacs

L. 07 the coed af marmal &l uring ik
felevisdon i the yeds 200 wins
F 12,000, then whal Sras e o
tall expencliture of codmpny C lor
manfacturing all the Leksvisions
in the same pear ?
(1] v 4d crore [ T 52 Croee
3 F 52 crore 4 ¥4 cnane
5 7 42 crore

LR Whal wias percerlage increas- in
ithe aumber of EElevisions fnuunis
factured by company-C in vear
2008 as commpared 10 the previ-

ous year 7

1) 40 [E) 45
13 30 4] 35
15 Nane of these

10 Whal was the appresizmale av
erage mamber of lelevisinis run-
ufzctured by company B over all

the years Logether 7

11 BETT (2 s
¥ 506 [l 0833
I 405G

108. Whal was [he reapeciive Falis
betwesn the number of lekey]-
abores manuonred by company-
B in year 2006 and the number
of televisions manufactured by
Comany -/ b year 2005 7
1 8:4 2 e:5
(3 4:3 e 7
(5] Mone of theas

DHrections [106-110) : Study the table carefully o answer Lhe questians
et fedioe
s F 480 and each girfs monthly Number of trees planted (in Hundreds] by five differest NG0s 1o six
differeat peass la rwo dliferent states

M) 148
(5] Mone af these

107. What was the average number of

trees planted by MNGO-B in the
state-m over all the years Lageth-

=

{1} 10053 [ 150
R 1315 [4) 1205
|5 Wane of these

108, What was the approdmate per-

. pentage decreass in Lhe number

of trees planted by RGO-C in
stade-B in the yéas 2005 as coam-
pared 19 the previous year 7
(11 28 12 22
(31 28
4l 16
13 20

108. Which NGO planted the second
ipwest number of trees In both
i ataies together in the year

2O0E?

A 2 &
& (4] v
5 E '

110, Fumiber of trees planted by RGO
D in thie #laite-B in the year 2007
was approzimately whal per-
centage of the number ol rees
plamvted by NGO-A in the atate-A

in the year 20049 7
(1] 46 i na
(3 0 4 58

%ﬂmun-lm:f-mdrﬂr
following table carefully W answer the
ineaticns that follow
Number of Qiphts cancelled by fve

I:l.l-ﬂ'ﬂll:ll-:ﬂ.l'l.hﬂl.l l'hd.l.ﬂ::'lﬂt

years

Alfines| P | @ | R| & | T |
o '
5 Zal 450 | 208]385 |640 |
2006 470 | G0 | 470|446 F256
2007 800 | Ge0 | Bag| 430 1610
D008 160 | 208 | 708|550 |586
000 | 140 | 640 | 856|250 |654
F010 | 290 | 363 | B30] 195 [463

111, 'What was the dilference bebwien
Ui haghest rumber of Mghts dan:

I A ] [+ E__ |
Wear | Siwte-A|BiaieD | Sisieh [ Sabed | Stied | Sunel uuu-l|mnmr-rl
Zoem | dm | B 148 WA AL | a4 ANETHEEE
FET ] K] 5 T4 T2 [N 4.4 FE] T3 a.T
207 5 | 4k T3 K] T4 | an 53 | 74 | B2
R} 124 ak 0.4 L] 7.2 B3 L EE i3
oot | 08 | 124 | 128 | &2 THET R ETEED

=

g | e 7.4 g ma | aE

4

| 128 | 4

106, What was the respeciive ratio
between the number af trees
planted By MOO-A In the yvear
D06 in state-A and the mamber
ol irees planted by NGO-E in the
year D008 in state-B 7
(1] 36 : 11
A a5: 7

3 11: 7

celled by alrtines-g and the low-
wal number of [ghts caneelled by
alrlines-Tout of all the gl ymars 7
I} 446 (2] A56
(¥ 432 ) 242
5] Mone BI these

1LE. What was the appraximate per
cenl increase nnumber ol ights
cancelied by airlines S in (he year
3008 as compared to previous
year T



{1 12¥F [Z] 2B
(3 150 4] 45
= Lr

113, What was the avernge number of
Nights cancelled by the alrlines
P, R. 5 and T in the year 20087
[11 551.5 [ 50
[ 405 (43 442.4
15 Mone: of thess

114. If 40 per cent af Mghts i the
year 2010 by adrlines-E were can-
celled due to bad weather condi-
tons and rest were cancelled dus
to technical Bault. What was the
number of Mights cancelled due
to bechnbesl failr 7
(1) 524 12| 5e8
3 4648 4l 544
iH None of thess

115. Number of Nights canceljy)
mirlines-P and R Logether ig |
year 007 was appre Y
whal percentage of nusihe
MNaghits cancelled by aifliney.5

the year 2008 7

(1] 356 (2] 260 '?
[ 265 ) dag |
15 314

infermation carefully Lo answer
gueesiians Lhat follow.

In a sports”eveni Lhere are s
sponis viz. Hockey, Crickel. Ten
Badminton and SBaseholl. There
tofal mumber ol BOO playerss in |
&porls event. The eatic between kuyg
and mabe players s 1 - 3 respeciivg
Twenty five per cenl of the Lol play
ers arg in Crickel. There are 110 W
minfon players. 10 per cenl of the I,n,qq'_
players are in Tennds. Hockey play
are double the mumber ol badminig
players. Remaining pilavers are in B
ball. 30 per cent of cricket pliers
female. Half ihe lemale cricketers ae
equsal b fermale badmintan playes. 100
per cent of total hockey playens are equal
ti3 the pumber ol female 8 in Tens
nls. These are aqual number af femnles!
in Hockey and Baseball
116, ‘What is the respective ralio be

taeen the female pliyers in bk

ey and ihe male players m -

mnlan 7

(1] 20: 13 (2 1120

0313 : 20 4] 10 23

[3] Mone ol these
117, What is the focal mumber of maks

In Hochey, Crickel and Busethal

i
Directions (1 16-120] ;&m:hﬁ

together #

{1} a4 2} 454
3l 462 (4] 432
(5 Mene of thess

118, Mumber of fenuale playens in Buse
ball g5 what percent of male ploy-
ers in Hockey 7
1ty &5 12 34
[0 & 15
5 Mone of Lhess

116 What is the dillference beiwesn
the male playera in Baseball and
tegal mumber of players in Ten-

nis ?
[1) B 12} T8
3 56 ] 84

5 Nome of Lhese
L3 In which sports female players
are snaolseeemn and mabe phanses
are minimam respeciively ¥
(b} Crickel ad Badmanian,
{2 Crickel pnd Hockey
13 Baseball ancd Crichet
4 Crickel and Tennis
5l Tannin and Hoebre

REASONING

Directions (121-125) : In sach
of Ihe question sets befow are two/
thres statements followed by two con-
chislons numbered | and 10, Yo have
L lakee the given statements to be irus
gven I they seem o be at variance
from commanly Known facts and then
deride which of the given conclusions
lagically follows from the ghven state-
hnmﬂiwm:d.lngnmmmurknurn

ris.

Gdre answer (1) If enly conclu-
sion § Falliswa,

Give anwwer (2] if enly comclu-
slon 0 fallows.

Give amswer (3 1 elther conclis:
sion | or conclusion 11 follows.

Give answer [4) il nelther con-
chimion | nor conclusion 11 fllows.

. Give amswer (5] if both conclu-
son | and conclusion 1T follow,

Directions (121-123) :
Btatements -

All stars are haltles.

Same bottles are papers.

3 Nix paper 5 & calendar.

L2, Comclnafions : ;

I Atleast spme calendars ane
bollles.

i 1. Mo calendar is a star.

1 Comehumions :

I Al $tars being papers & a
Poasilal

w1l Nocalendar is a bottle.

133 Comclusions -

L All calendars being stars is

J PpossibEily.

ks 11 Adleast some bogthes are siars.

4 “ll:ﬂ.nnl..uh-l:lﬂr
Etatemeniy ;

& Bome pencils are blankets.

s All blankets are erasers.,

#4 Conchusions :

il Atleust some pencils are

® E erasers,

BN Al .

B s peamp T

Directians [126-130] : Each of
the following questions belnw consisis
of a question and two statensents num-
Bered [ and [ given below it. You have
b decide whether the data provided
in the statermenis are sulficient to an-
#wer the question, Resd bath the state
mEnls and -—

CGlve answer (1) I the dats in
Statement [ abarne are sufflclent o an-
swer e question, while the data i
slalemend Il alore are not sulfisent o
angwer the guestion,

Give anwwer (2) If ihe dala In
Statement Il alone are sufliclent (o an-
awer Lhe question, while the data in
slatement [ along &re not sufliciens (o
anawer the question,

Give amswer (3] I the data In

eliher Sdatement | alone or s{alement
Il alone are sullicient to anewer ha
quiestion.

Glve anewer (4] If ihe dala in
both the Statements | and [ iogether
are nod sulficlent toganswer the gques:
tian.

Give anawer [5) Il the data in
Loth the Statements | and 1l are to-
Eether necessany to answer the ques-
lion.

128 In which direction 1s paint E,
wilh reference to point 5 7
I. Poink I} §s to the cast of
paint E. Paint E is to the
sough of Foint F.
I[I. Point F s (o the north-west
of pofnt 5. Point © 15 10 the

north of peint 5.
127, Who amongst P. Q. . S and T.
B Lhe lalleal?
I. F & ialler than Q. T 1s nig
the tallesy.
. R is taller than F. 5 is not
thie tallest.

138, How many marks has Suman
scored i (the e (Maximmue
ks 0§

[. Suman scored twa digit
marks, Her mearks were In
necd in declmals

1. Suman scored meare than O
marks in the tesg

128, In which manth of the year did
Rahul go abroad for & vacation™
[. - Rahul correctly remembers

thal he wenl for a vecaibon
in the first half of the year.

Il. Rahuls son cordecily re
members that they wear ior
& wacaticn afer 318 March
bl before 15t May.

LEy, Onowhich day of the same wesk
is Ramesh's cxam scheduled
(Monday being Lhe [rst day ul
the week| T
1. Ramesh carrectly remem

bers thal his exam 5 sched-
e o @ iy alfler Tucsday,
but belore Thursday ol the
BAME WECH. I

II. Ramesh's friend corrccily
remembers thal Famesh's
exam k& scheduled an ihe
third doy af Lhe week,

Directions (131=136] @ Siudy

the Information below and answer Lhe

Eiven qusslions
In o cermaln oode —

“facing problems with bealth”

b ooded as ‘milp Bl ogl ank’

‘Bealth problems oo rise’ (s

coded as ‘hi sa riv mip'

'rise with every challeage’ is

coded as ‘sak riv lne riy

‘Taciag challenge eacl day’ is

coded a8 ‘o iy nop s’

1381, “riy ank milp™ coulkd e o code Ior
which of the following *

(1] probdem every day

[Z] challenge with health
(3] with health day

(4] every challange factng
5] challenge lacing with



132. Which of the ollowing is the
code for day’ ¥
(1] my
L2] nog
(3 ngl
(4] hus
(5] Canned b determined
133, Whal does Lhe code ‘lnestanrl
far?

(1} Tacing {21 with
{3 every |4 rise
(51 challenge

L34, “ry rv red” coubd be a code for
wiideh of the following ?
(1) rize above challenge
1) n=ze heallh challengs
13 day rise chalengs
[4) with rise challenge
[S) challengs every rise
196, Which of the lollowing is the
code for “facing ?

(1) nop (2] riv
- g (4] sk
5] Bsx

Directions (138-140) : Study
the indorration below and answer the
TS e e

Eight frfencds A. B. C. [ E. F.
G and H are aliting n a cincle, mot
merenanT; A he aame order. Four of
e are facing outside and lour of
\leeim are Gacing the cenbre,

& E (nees oulside. Bodh the lmame-
diste neighbours of E fhee the
centre.

* H sits second 1o the right of E.
B aila third to the lefi of E.

= Db facea the centre. Bodh the im-
meeddiate neighbours of D Gce
oalaicke.

= 0 mits second to the left ol A B
slts third to the right of H .

# F s an immediate nelghbour of
DO © is an Emmesate neighbour
al G .

* D i 1ol an bmemediate nefghbour
ol B

198, Who amaongsd Lhe lolkming sils

io the immsediale rght of H 2

1A =

(K = 4G

{5 Mone of thess
137, Whe amuongst the following sils

third Lo the right of A7

i o A E 1

- F 4 A

5] Mone ol thess
L8 1T all the pecqle are made to st

In alphabetical order, in clock-

wine directbon, startlsag lrom A

(1 HA
(2 FH
13 oo
4} DA
15} AE
140 Who amongal the following sits
excactly between F and C [and
alsd their neighbonarn] 7
E [z B
(=1l (4] A
(5 Mowwe ol these

Directions [141-145) : Study.

the informaticn below and answer the

EEn quatalions ;

Hine people A, B. C. DL E, F, G,
H and J stay in a building. nod nec-
eaaarily i the same order. The bulkd-
ing has nine foors and only one per-
son aLays an one oo, ATl of them own
one car emch, and esch car s of a Gil-
Ferenl colodr, Le Blue, grey, whits,
black, yellow, green red. orange and
pind nol necessanily in the same cnder,
The growind fleor s numbered 1. the
Tooar abowe i number 2 and 50 on and
thee o et oo i numbened S,

H owre a black codowred cor and
slinve an an even nusibersd Naar A
stays on ey even numbered floor be-
Jow the Do ain whilch H slays. The
ane who owna an ornge coloured car
stays on the [ourth Door. E stays on
ithee second Moor and oens e while
coloured car. The one who owns a
pink coloured car slays on the third
M. A dices nod o & gresn cobored
car, Thers are b Nedrs bebween the
floors on the people cwning the
red and the calinured cars sy,
C owma o Frey ooboured car, There ane
three floors between the foors on
which C and G alay, D alays on &
floor immediately above J°s Hloor.
There i@ cne Door Between the Doors
on which F and G stay. F doss not
own the pink colouned car. The one
whio owne the blue car slays on the
top-most foor. F doos nol stay on the
groand Hocr,

141, How meany (oors are there be-
tween (e Boor on which J stays
and the Noor on which C ataya?
1] One
[

3] Mo

) Thiree

15§ More than thres
143 Which of the lullowing Is true as

per the ghven Infarmation?

(1] B stays on a fdor sy,

by bedow the AEal tm whigg
H sLays. L
12} G atays on a foor imiiag,
ately above the floar g
which A stays. 0

3 F abays om Lhae sghah Py,

4] D gwns Lhe 0rANRE Cilouew)

car,

15 None s e
143, O which of U Tolowing Moo

does G slay?
[1] 1sL [ Eh
(3] 5th [4) Tih

{54 Mane of these

Lé4. Who amongsd the lollkraing siys
oo U lop-masl floor ?
inF 15 G
(3 o [4.C
(5] Mo ol Uhesse

148, A ownss a car of which of the ok
feming colours?
(1} Drange (2] Fink
1 Yelow 8] Elue
151 Nooe of Lhese

148, How many such pairs of leiers
are there in the word TELERA-
THY each of which has as meing
letiers belwesn them in Lhe
wiet] (i both forwand and beck
wrd directions), as they b
between them in the English al-

{5 More than threse
147. How many measinglul wosds
can be made with ithe alphabsis
D, B H and A sach belng ised
only snce n each ward ¥
[1] Mo 13 e
[3) Two 4] Thires
(S} Mare than Lthres
Directions [148-150) : Four o
the lpllowing free are alike In & ver
taln way and 50 form a group. Which
i= the one phat duew
reot belong Lo that group ?
148, 1] Quick -2} Brisk
(3] Quabet
[4] Fast
(5 Rapid
140. (1) Repatr (2] Mend
134 Correct, {4 Reclily
15] Trowhle
180 (1] Emphmyved
3 Tralned
13 Hired
14} Appointed -
5 Commissiarnsd
151. Four of the follvwing five are
alike i A cemadn way [Mased an
the English alphabetical series]
and hence form & group, Which
is the ane (hat does naot belong
ia that group if the English al-
phabetical serles bs broken into
twn equal halves i.e thee fir=t 13
alphabets are clubiied together
and the last 13 alphabets are
clubbed separately?
1] FH {2 su
[:3) hLA 4 CK
(5] LB
Directions (152-155) : In each
of these guestions, relaticnship ke
tween different elements i3 showm in
the slakements. The statements are fal-
Towed by two, conclusions.
Give answes (1] Il enly concha-
Eon | s true.
Give answer (2] if only conclu-

shan O s true.

Oive answer (3] U elther concha-
&ion §or 1l B e

Give answer [4) il neither con:
clisgion [ mor 11 i3 thee.

Give answer [5) I Both 1he con-
clusions | and [ are frue



Directions |152-153] :

Statements i

AxB=CE=FEzD=C
152. Conclusions :

. B=E I FzB
153, Comtlusfoms !

. CxF Il. &a=0C

Directions (154-135) :

Slatesmenls
led; KeLzM:J=HK Gz H
= |
154, Conclusions :
. H=d W J=0
195, Conchusions &

i La=J HLJzM

&) alead, acall, presentation and
sale

{3 presentation, sabe. lesd and

call

(4] presentation, kead, sale and call
(5] sale, eall, kead and presenta-

Ly
186, A pressntaticn means
11} display al produwcts

2] explaining the utiby of prod-
s

C ) agh

4] display ol communicalion
shlls

150 Al of these
187, Atead means

Directions (166-160) © In each of the questions given below one of the
five answer figures on the right should come after (e problem fgures an the
left, i the sequence were continued 7

Froblem Figures

mmmr; APTITU]]E’
COMPUTER KNOWLEDGE

181. Marketing in Bonks is defined as
(1] Kegauahle Insirumenis Ao
(2] Bamking Fegulaticn A
(3 Reserve Banh of India Ari
(4] Cosmpanies Act
[B) Monue of thes
182, Marksting In banks is
11} & cne-day Nanciian
(2} 8 one-man fencgion
(3 & cowt-off allair
4] All af theae
15} Mame of thess
163, Edfective Marketing helps in
11} boosting the purchases
12] boosting the sales
(3 diversillled bassinean
(4] realisation of dreams
5] All of these
1. A Buyer's Markesl means
|1} buyers are alza sellers
12} seltera are alsp buyers
13 there are nat selbers
4] demand exceeds supply
3] supply exceeds demmeand
LEE The sequence ol a sales prswess
ia
10 aeall & lead, preseniation and
sale

11} & buyer
(2] a seller
(3] a company inending tosell s
products
14 A prospective buyer
18 & disinlerested buyer
168, '‘Benchomark’ msans
(1] products ling wp cn bench
(2] malegmen siiting on a bench
13 wed standards
{4} marks oo a BEnch
|8 Morne of these
1689, Cusinmisation’ means
11} customers” personal aoommiie
2] customers selling goods.
|31 spectal products for each
CUSLOmET
[4] better relaticns
(51 All of these
170, Custamer Retention means
{1} retaining Lhe cuslareers Al Che
Bank for the full day
2} quick disposal
13 customers dealing with the
aame hank for a long tme
[4) better standards -
15 ALl of thess
171 I YanAir. a halrdryer manuafac-

turer, I8 focusing on cusiomer
natisfuction, @ will ind that what e—

consumers really wami is:

{1] More watis

(2] More speed

3} Highwer heat setiings

(4] Attractive hair

|5] Mene of fhesse

172, The XKL company wants ta
adapd the marketing concept. Tao
be consistent with this move, it
shiuld adopt which of the Noloe-
ing philcacplies?

(1] The customer & always right

121 Malking money is our business

1Y Sell. pell. sell

[4) Keep prices low

(54 None of theae

173. Boldnew, the maker of & highly
innowative Hght bubl, Breds that

-t has excess stocks. The firm
intreases Ibs adverisdng budget

by 80 per cent and doubles s

sales stall. This company is op-

erating as i il were sperating

11} production i

12) aalen.

1) marksting

(4] mocdal

[3] None of thes:

174, Chryslers Chiel Executive Offic.
€r s the company's spolesper-
&om. His mesaage has focused on
comerrm lor customers and prod-
wot quality. Which aspect of Im-
plermenling the marketing con-
cepl does this represent?

(1} Focusing en general condi-
tians

L] Stressing the shart run

13] Enderaement of the market-
Ing cofnicept by top manage-
megit

4] Development of an tnforma-
Hon system

(5 Nane of these

175, Which of the following s an ex.
ample of a problem hat may
arise in the mplementaiion of
the marketing concept?

1] By satisfring one sagment iy
soclety, & Arm contributes io
the dissatisfaclion of other
SEENIENS,

13 Consumers do not under-
stand whal the marketing
camcept

(3} Dealers d0 nol support the

* markefing crancepd,

(4] A product may [t the needs
of too many segmenis.

5} None of thess

178, Mast specifically. marketing
alralegy:

(1) 1s concerned with key dect-
slons rpquired to reach an
obijecib

12} encomppasass selecting and
analysing o trge market and
crealing and maintainlng an
appropriabe markesting mix

(3] expands geapraphic bound-
aries of markets to serve karg-
ef geographic areas

[4] invohves determining the di-

FErtlan and akhlssatinss =



markeeting management

|5} Hone of (hese

177, Adl of the following are markst-

i1 marke=ting plarmdng.

{2 organising marketing stihd-
Lies,

(% co-ardinating marketing acti-
bes.

(4] m-ﬂuﬂ:\p‘rﬂu and amal-
vla,

181 Mone of (hese
178 I Erin Farm Insacrpsnge.

ance in Ireland due 1o
Nosds in Britalm, Lhe, i

walild b presenting ihe;
ny with a markeing: . -
(1} opportundly  [2) strategy |
13} concepl {a) ey
(5 Micane: ol ese

1T A change in the minimuam
ing age o India presems
change in which of the |
for Bass Brewery?
l]jhl.l:l'l-nsl.l'l]_mht
[Z) Markeling emvironmen)
[3) Markeiing concepi
(4] Marketing Lask
[5] Nome al these

180, I MK Inves! was Lo percetve |

servolive (n thelr Invesling,
thus developed maore s
with keraer risk, it would be:
1) responding to the markedisy
enviromment g i
mch.lnmhmmrnurhn‘!!
|4 developing a sales orieniation
|4} changing s orfanksaiion
=ruciure

5] Mone of these "

181, Compulers manipulals dala in
rsuy ways and this manipulation.
Is called :
11 upgrsding  |Z] proceasing
(Hbatching  [4) wiilizing
15} dramiboading

183, Crealing & ___ msearns making 8
duplicate copy of important S
R0 el winen 5 pecihem oLruT,
you can restore those fAles using
the copy.
(1) endrmar
(3 kot Ale
(3 priml dul
(4] hotspal
51 Eskiip

143 The prain sysiem board of & oo
puter ks called the
(1) inbegrated céresil
[ maiherboand
(3] processor
(41 microchip
E1 drive board

184 Peripheral deviess such as print-
ers and meandtors are oonsbdered

tobe
(1) hardware (2] soliware
(3 data ] inforematisn

- T Ty TR T

15} source cods
LS. In & computer most processing
Lakes place i _
1] Mswmary (3 Faga
3 TP 14 Motherboard
5 ALL
i88. The componenls of compuler
sratem which we can touch is
1) Hardware [ Software
1 Modem  [4) Memooy
. 5 Cabile
18T, Collection of programs that con-
trel Fow the system runs and
process the Information is
called
v {1} Interpreter
' ) Computer
12 18] Odfice
i) Compiler
15 Cperating Systam
15 & unit of measure-
menl which 18 eguivalent to
1,048 576 byles that i equal o
approdematelly | millon Lyte
11] Byt 12 Cegabwie
i3] Memaory (4] Megabyie
5] Falobwyie
188. Hard disk drive is considered
slorage medium.
{1] Flash (2] Mon volatile
- 1) Temporary
4 4] Mon permanent
i 151 Mane of these .
bll’utlmlwnmm:nmmm-
T , ed g one anceher doforma
. (lBerver
2] Buper Comgnter
131 Enterprise
14 Fstwork
13 reone of these

i
191. Round, shiny and portable disk
E

g

that stares software and Infar-
malian i lasge stoes (s
(L} Co-RoM (2] Floppy Disk
I3 Scanner (4] Mondor

Errar in ¢ in
Gimpuler program

{1} Crash

12) Fatlure of Power
(3 Bug 4] Virus
H Banppes

184, Desvice weid Lo conmect a feL-

work without use of a cahle [
callad

(1) Déstribuated
§2] Centralized
3] Oty Somres
14 Wiraless

5 Without card

luﬂmhwmﬂwm
in rings are callsd

(1 Sectors: (2] Ringers
W Tracks  [4] Rounders
(8] Circles

(1) Saltware or CPU S RAM

(3 Applicatiod saltware or sys-
e saltware

(3 Tnpui device oF outpal devics

[4) Hardware ar saftware

15 Inpred o gulpul )

187. In binary languape, sach beifer,
namb=sr ar Qpl!tlﬂ] character of
alphabet s unique combinaticn
af -

(1 bryies

2} Eght iciobytes
(3l Eight characiers
(4] Elght kit

I35l Elght megabyies

188, Result of an inpud after pros
cessing by computer is called

(1] Cuiput (Z Duin
(3 Muliftasking (4] Tracking
(&) Intake

108, Genecally a Hardware device
connected 10 Lhe computer
throwgh cable ds called
(1] lean [Z] Virus
(3] Dazabase  [4) Plxel
[5] Peripheral

200. To keep flles crganized, related
documents are often stared In
— [also called directories] k-
cated an the slorage medium.
1] Enclees 12) labeln
|%] folders |4} programs.
151 cabliets

188. All the components of your eom-
puter are gither.



SRI KRISHNA VENE BANONGIDCENG CENTRE KEY SHEET -23

1)4 2)4 3)4 4)2 192 ias 75 g)a 9)3 10)1
11) 4 TR T w2 m2 = |3 |4 195|203
21)2 221 23)4 TR 271 28)1 293 3012
)2 225 3)5 3w (=2 == |k 381 39)2 aon
aa ams [ e | s= == | oe |43 [ 503
s1)2 5204 SEERES :m s | S8 sa)a 6013
61)2 62)1 63)3 645 | &SR Ts8s | 675 68)1 69)3 70)3
)2 723 73)5 e |7 | wm | 781 7915 80}
811 8214 831 TR RN 81 )2 05
a1 92)2 93)3 s =2 == 9w 85 29)5 10018
o0s  Ti075 |03 |oee | sk | mm= | 1 |08z | 109k | 110K
111)5 112)2 113)2 11401 ‘: 3es T me= B | um 119)5 1208
GnT T Timr (s =R mes | e Tome @R |08
131)2 132)s 133)3 134)1 =5 i = 137 ! 13D ; 13512 | 120)2
14111 142)4 143)3 144)5 Pl o) == Ly | rems3 145)5 ! 150)2
m2 1521|1535 | 154k | 1ssa | men | 1S7M Tises | 1595 | 1602
161) 5 1625 163)2 164)5 T2 | ez | 167k | 1683 169)3 1703
171)a 1721 173)2 174)3 175 > [ I! 17811 179)2 180)1
Ez 1825|183z | 184 | ms8 | sen |15 | 188k | 18912 | 190M
i |13 | 13e |14 |wss | oee 197k |1sen (1995 | 2008




=] EXPLANATIONS =

L. {4) To avoid wastage of fruits and
vegelables stored for export

2. (4} ELISA-Test

3. (4) Te ensure the smooth avail-
ability of the items in India

4. (2) All (A lB]&{CI

5. (2} Music

6. (5] Shri Deepak Mchanty Com-
mitlee was constituted to make
the balance of payments manual
for India.

7. 15) NABARD

B. (4} It is the market value of all ii-
nal goods and services made
within the borders of a munlry
in a year

8. (3) Uranium

10. (1) Odisha

11. (4] HIV positive

12. (1) Only (A)

13. (1] Keynesian

14. (2) To reduce fiscal deficit

15. (2) It utilises the floods of Sutlej
river and is located in Kinnaur
district of Himachal Pradesh,

16. (3} All (A), [B) & (C)

17. (3] The bank rate signals the cen-
tral bank long term outlock on
interest rates. If the bank rate
moves up. long term interest
rates also tend to move up and
vice-versa.

18. (4] UN Security Council

18. [5) For the betterment of 63 ill-
health towns of India, Prime Min-
ister initiated the Jawaharlal
MNehru National Urban Renewal
Mission on 3rd December, 2005
with the corpus of Rupees one
lakh crore rupees.

20. (3} Business correspondent

21. {2) ASBA : Application Supported
by Blocked Amount,

Z22. i1 Only {A) and (B}

23. (4] Only (B] and (C}

24 1) Kalinga Prize was instituted

by Halinga Foundation in 1952 |
This prize fs given every yvear in |

the field of Science,

25. (2} Panchsheel is a theory which
is related with foreign Policy

26. {4) Bank Rate

27. (4) De Beers

P —.

29, (3) Manul'acturlngul' goods

30. |2} Sports

31. (2) Turkey

3. (5) Member Countries of G-20 :
France, Germany, Ilaly, Britain,
Turkey, Russia, European
Union, America, Argentina, Can-
ada. Brazil, South Africa, India,
China, Indonesia. Japan, Saudi
Arab, South Korea, Mexico.

33. [3) Anita Desai

H. (2) Apama Popat

47. (4) The meaning of the word
Demolish (Verb) as used in the
passage is : to eal something
very quickly.

Look at the sentence @

The children demolished their
burgers.,

Of the given alternatives, the
word Consume (Verb) means : to
eat or drink something.

Look at the sentence :

Before Ramesh died he had
consumed a large guantity of
aleohol,

Hence, the words demolish and
CORSWDE At SYNOonyImous.

48. (3] The meaning of the word Poor
(Adjective) as used in the
passage is : having very litile
money; not having encugh money
for basic needs; penniless,

Look at the sentences :

They were too poor to buy shoes
for the kids.

He died penniless in Paris.
Hence, the words Poor and
penniless are synonymous.

49. (1} The meaning of the word
Graclous (Adjective) as used in
the passage is : kind, polite and
genercus,

Look at the sentence :

She has not yet learnt how to be
gracious in defeal.

Of the given alternatives, the
word Rudely [Adverb) means :
in a way thai shows a lack of
respect for other peaple and their
feelings.

Look at the sentences :

They brushed rudely past us.
What do vou want? She asked
rudely.

FECLLT, LG WO LS ORIy |
rudely are anlonymous,

50. (3] When a person is in 5 de.g
sleep, it is dilficult 1o wak-
antonym will be light.

56. (4] IU's proper ta use “prohibiwy

67. (4} It's proper to use 'lessen’.

58. (1} It's appropriate to use ‘basis’,

589. (4] It's proper to use completd

60. (3) It's proper to use ‘during

66. [3) Replace ‘the most of by ‘Lhe
maost by /the most hecause of |

67. (5) No error

68. (1) Replace “It tock mysell’ by 1
took me’. :
Look at the sentences :

I myself do my work.
He took me away.

69, (3] The error is in part (3).

70. (3} Replace 'pay five per cent

© commissions’ by “pay live per
cent commission’. It is incorrect
to use 'comumissions’.

8L (1) ? = J82 x7x (5% -175

= JiB8x52 x7-175

11200 - 175

11025 = 105
B2. [4) 10.5%3 = (0.5%)2 x (0.5)2
=[0.57-3
= 0.5% =+ 0.5% x 0.52 = (0.5)"
= (0.5)2-4+2 . (0.5)7-3
= (0.5) = (0.5)" -3

= 7-3=7
=7=34+T=10

BO0xG645 1500=36.4
=572 4 38

= 516 + 546 =7 + 38
= 1062 =72 + 38
= 72 = 1062 - 38 = {024

= 7= /lo2s =32

4824
567 -
B4, fﬂi 134

=7x9
= 67T -36=?x9
= 7 x9 =531

531
w2 =59
¢ )

——————eAEAER R
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88. (5] The pattern of the number

+[]5—IO+E—11]
18

=1&«0=1

series is .

ag9 - 117 =272
525 - 389 = 136
503 - 525 = 68
627 - 593 = 34

- 72627 + 17 = [644]

-B7. |4) The pattern of the number se-

ries is :

T+lxd=11

11+01 +2)4=11+3x4=23
23+[3+4)4=23+Txd=51
51 + (7+6) 4 = 51 + 13 x 4 =
103

03+ (13+8)/4=103+21 =4

I!..M]' The pattern of the number se-

"')

. ries is ;

18 + 9 =27
27 « 19 + 13) = 49

- 49+ (9 + 26) = 84

84 + (9 + 39) = 132

132+[9+52}.

}.ﬂ [2) The pattern of the number se-

res is :
33+10=43

43 + (10 + 12) = 65
65 + (10 + 24) = 99
89 + {10 + 36} = 145

145 4 (10 + 48) =

yhmmpﬂttemnfunnumberu—
riula

: 439 . 314 = 125 = 53
_3]4 250 = (4 = 47
250 - 223 = 27 = 33

L ?m223-23-2235-8

= 2]

91. (1) If the length of train A bg x

metre, then length of train B
= 2Zx metre.
When a train crosses a pole, it

covers a distance equal to its own
length.
1 2
= 2—5)(?5'-?-'3)(?5
=3:2

92.(2) .- 12 kg of apples = Rs. 1500

® 20

1500
o 20 kg of apples = 3

= Rs. 2500
.+ 10 kg of nuts « Rs. 2500

s34 kgolnues o x 34
= Rs. 8500

. Veena's monthly income

= Rs. 8500

-~ Veena's annual income

= Rs. (12 x B500)

= Rs. 1 lac 2 thousand

83. (3) If the fiumber of 2-rupee coins

be x number of 5 rupee
colns=x-5

o 2x+ 5 [x-5) =50 - 26

= 2x + 5x- 25 =24

= Tx=24+25=49

49
= X= = =7

7

4. (4) If the rudmum marks in the

test be x then

x%35 _175435=210

210x100

= -'Em
=X 35

{2) Area of the square

=22 x 22 = 484 sq.cm

2+ Clreumference of circle

=484 om

= n x Diameter = 484
22

= ? » Diameter = 484

484 !
. DHameter = __""22 w = IEF.‘{m

~ Lengih of rectangle = 2 x 154 |

= 308 cm.

= 2 (length + breadth)

= Perimeter of recltangle

= 2 (308 + x) = G6B
[Breadih = x (ley)]

= 308 + x = %ISM

= x =334 - 308 = 28cm
96. (2) 4 x 8 girls = 3 x 9 hays
=7 x2mens=5x4 women
= 32 girls = 27 boys = 14 men
= 20 women

376
97.(2) Mean ol set A = e 47

The lowest number of second
sel

=47 + 15 =62

& Required = 62 + 63 + G4 +
65 + 66 = 320 .

96. (5) If the adjacent angles of pur-
allelogram be 2x° and 3x° re-
spectively, then
2x° + 3x° = 1807
= 52° = 180° = »° = 36°
. Smaller angle of paralielogram
=2x= T2
- Smallest angle of the gquadri-
lateral = 36°
-~ Its largesl angle
=4 x 36 = 144°
. Reguired sum
= 144 + 72
=216°

89. (5) -~ 1000 ml. of milk
= Rs. 44

44
*, 550 ml. oflrd}]{l'—h--*lomxﬁﬁﬁ

= Rs. 24.2
.~ Total expenditure in 45 days
= 45 x 24.2 = Rs, 1089
x 36
100
Bi:y:‘ZOOO-— T20 = 1280

\ 75
Eaﬂhgh‘.lnl\‘ee=4ﬂﬂx T00

100. (4) Girls = = 720

= Rs. 360



-, Total monthiy fee
"= Rs. (1280 x 480 + 720 = 360)
= Rs. (614400 + 259200)
"= Rs. 873600
101. (3) Total number of televisions
manufactured by company-A
= (30 + 35 + 35 + 40 + 45 + 55)
thousand
=240 thousand
. Required number of coloured
televisions
240x75
= [T] thousand
= 180 thousand = 1.8 lac
102. [3) Required expenditure
= Rs. (12000 x 35000)
= Rs. 420000000
= Rs. 42 crore
103. (1) Required percentage increase
35-25
25
104. {4) Required average

25+30+45+40+55+W]

&
sand

* 100 = 40

245
= [T] thousand = 40833

105. (4) Required ratio = 45 : 35
=9:7

1086. [2) Required ratio = 21.6 : 4.2
=36:7

107. (1) Required average

[ 142+79+77 aﬁm«t +12.6 '”]xlm

i} 603;100 - 1005

108, (2} Required percentage decrease

82-64

= { 53 ]xlm =22

109, (4) Number of trees planted In
2009:
NGO-A = [10.8 + 12.4) hundred
= 2320
NGO-B = (12.6 + 6.2) hundred
= 1880
MNGO-C =+ (8.6 + 6.4) hundred
= 1500
NGO-D = (8.4 + 5.2} hundred
= 1360
NGO-E = (6.9 + 3.8] hundrcd
= 1070
Note : It is obvious from the ta-
ble. There is no need of caleula-
tons.

110. {4 Regeered perrentage

ll.l. (5) Requoired difference
= 680 - 258 = 422

112. (2) Required percentage increase’

550 - 430
T 430
113. (2] Required average
160 + 708 + 550 + 586
4

x100 = 28

2004
=2 501

114. (1) Number of flight cancelled by
alrlines-R due to technical fault
in 2010

880 x 60
100 =528

115. (5] Required percentage
(600 + 546)
=7 385

1146
2 ——x100= 314
365

» 100

Caleculations (116 - 120) :
Number of female players = 200
Number of male players = 600
Total number of cricketers

1
= 800 x — =200
4

Female cricketers = 60
Male cricketers = 140
Male players
=110~ 30 = 80
Total tennis players = 80
Total hockey players = 220
Female tennis playera = 22
Male tennis players = B0 - 22
= 53 5
Total baseball players = 190
Female baseball players = 44
Female hockey players = 44
Male hockey players = 220 - 44
= 176
Male baseball players = 146
1186. {2) Required ratio = 44 : B0
=11:20
117. (3} Total number of males in
hockey. cricket and baseball
= 176 + 140 + 146 = 462
118. (1) Required percentage
44

118. (5] Required difference
= 146 - B0 = 65
120, (4} There are maximin {0 R
players in cricket (60) and g
murm male players in tennis 15g§3
(121-125);
(il All stars are boltles — Uniyg
Affirmative (A-type). ;
(i} Some bottles are papers -g ]
Particular Affirmative (1-Lype),
[l No paper is calendar '
Universal Negative { E-lype), i
(v} Some papers are not calend
-+ Particular Negative (O-uvpej,
(121-123):

Some botlles are ppers.

i

I
B

- No paper is a calendkn

I1+E=0- l!}"pcol'CDncluaion
“Some bottles are not caknda:r

Venn Diagrams

All stars are hottles.

SLrs,
Boille-

{1
Some bottles are papers.

5
No paper is calendar.

E.livml s

121. [H'Wi‘:’ha'\fedemred ﬂmCmcluﬂun

“Some bottles are not calendars”.
= o G i W




it may be represented by Venn-
Diagrams as:

Bottles
ar

Therefore, Conclusion 1 follows.
"122. (1) Combine figures (2) and (4)

Thus, Conclusion | follows.

123. (2} Conclusion 11 is Converse of
the first Premise.

(124-125) : '
Some pencils are blankets.

All blankets are erasers.
[ + A= I-type of Conclusion

“Some pencils are erasers.”
Elﬂ. (5] We “have derived the
7 Conclusion :

'L “Some pencils .m erasers.”
% It may be illustrated by Venn

Diagrams as:

.' . Concluston 11 also follows.
#%. (2] First Premise may be

128. (5) From statements | and 11

N .
= ‘*&H

127, (5] From statements | and 1

R = P -0
———
5.7T
128. {4]} From statements | and Il
Suman scored 10 o 20 marks.
129. (2) From statemenis | and 1l
Rahul went for a vacation in
January. February, March, April.
- May or June.
From statement 11

Rahul weni for a vacalion in April.

North
NW 130, (3) From Statement |-
NE Ramesh's exarm was schedubetl on
- o Wednesday.
= a
At From statement |
Ramesh's exam was scheduled on
5w SE Wednesday.
South e

(131-135) :

I;;uhlemsl/{ﬂ}\lha.aﬂhl_}[mlp hll@éR

Ihaaﬂh 'pmhlamsl urr sa @
e ey iy N o ()
&ar:h day —}nop hus N

181, (2) riy = challenge
snk = with
mlp =» health osr problems
182. (5) The code ‘day’ is either ‘nop’
or ‘hus’.
133, (3] Ine = every
134, (1) ry = challenge
riv == rise
rol = above
135. (3) facing = ngi
(136-140) :

E

D

©

136. (4] G =its to the immediate right
of H.
137. (3) F sits third to the fght of A

138. (2)

139. (2) F and H are opposite to each
other. _

140. (2) B sits exactly between F
and C.




" (141-145):

Floor No.

QNQUQ}'@IWE

~ha|e b |wfo]~le|o

141. (1) One Noor

142. {4) D owns the orange coloured car.
143. (3} G stays on 5th numbered floor.
144. (5) B stays on the topmost floor.
145. {3} A owns yellow coloured car,

148. {2) 20 5 12 5 16 | 20 8 25
. TELEVPATHY

1

147. (2) Meaningful Word = HARD

148. (3] Quiet is different from the
others

149, (5] Trouble is different from the
others

150. (2] Trained is different from the
others.

151. (2) SU belong to the last 13
alphabets.

(152-153):

A>B=sCc<D<E=F
152, (I} Conclusions

I. B<E:True

II. F<B: Not True
153. (5) Conclusions

[. C=F:True

II. A= C: True
{154-159) : !

GzH=1gsJd=K=<L>M
154. (4) Conclusions

I. H<=J: Naot True

II. J = G : Not True
155, (1) Conclusions

. "L>J:True

I1. J <M : Not True
158. (1) The following changes occur

in the subsequent figures ;
(1) toi2) 12} to 13)
(3] to (4) (4] to (5)
(5] to [6)
Lo 4 - L]
TR
"E—w /‘ \C
L q—p - L ——

157. (4) The lollowing changes occur

in the subsequent figures :
(1) e {2} 2} 1o {3)
{3) o (4 {4} 1o [5)
(5} to (6]
o\ _
-(N. LN ] M u
L% :.j %

158. (5} In the subsequent figures the
design {O) moves one and two
steps in anticlockwise direction
alternately while the other design
moves one and a-hall steps in
clockwise direction and one-half
step in anticlockwise direction re-
spectively.

158. (5} In each subsequent figuie the
arrow and the design (()) rotate
through 90° anticlockwise while
the design { T} rotates through
90° clockwise. The arrow moves
from left to right stepwise and
from right to left in one step. The
design | T | moves from right to
left stepwise and from left to right
in one step. The design ([])
moves right to lefi in alternate fig-
ure.

160. (2) The following changes occur
int the subsequent figures,

{1} toi2) (2) 1o (3)
B4 (4) to (5)
5] to (B) .

810

161. (5) Marketing in banks is defined
as selling ofbank’s products and
services to customers,

162.(5) Marketing in banks is a
collective process which reguires
efforts of all the people invalved.

163. (2) Effective marketing helps in
boosting the sales which results
in increased profit.

184.(5) A buyer's market means
which has more sellers than
buyers. Low prices results in
excess of supply over demand.
In this situation where goods are
plentiful but demand Is scarce,
estimated, buyers can dictate the
prices to suit their value,

165. (2} The sequence o 5 :ﬁ
process is firstly ay;.ar:,-.h-h.-,,::'_'-’
lead or prospective *"“5'1'111;:.'-1
take lme lor meeling on ey -

presentation and demonsiraging:

the fealures ol product any he?

closing the sale, :
166.(2] A presentalion mugng
explaining and live:

demonstration of ulility ang!
attributes of product in dejyi -

167. (4} A lead means prospective or;
l‘.arg-et hu}rer which in Ty |:|'|-,|:.r'-_-
be likely to become a cusiumer, :

188.(3) Benchmark means 10 se’
standards for studying ‘bes;.
practice companies’ 1o improve -
performance. &

169.13) Customisalion me,ng.
designing of a product in suel g -
way that it suils the needs ..’
wants ol individual cusiomers,

170. {3} Customer retention means -
when a bank earned the (rus of
customer by providing satislac-
tory services then the cusiomer .
deals with the same bank lor long
time. !

171. (4 A hairdryer manufacturer, .|
focusing on customer satisfaction, !
finds that cuslomers really want |
is attractive hair. ;

172. (1) If the companies want to acdop |
marketing concepl_he have w.
adopt this philosophy Lthat
customer is always right because
markeling concept savs that
customer is king.

173. (2) As the company has excoss |
stocks thatswhy it has incroases
its advertising budget and sales
staff because it is operating under
sales concepl which aims al selling
of more and more products.

174.(3)This message focused on
concerns for customers and
product quality shows the en-
dorsement of marketing concej
by top management to medium
and lower level management.

175. (1) By satisiying one segment in
society, a firm contributes o dis-
satisfaction of other segments
which may cause problem in
implementation of marketing
concepl because every one has
his own likes and dislikes and
may be one product liked by one
segment and disliked by other.

176. (2} Markeling strategy encom-
passes selecting and analysing a
target market and creating and
maintaining on appropriale




markeling n.... Marketing
sirategy is a plan or a course of
action [or obtaining marketing
objectives.

177. (4} All are marketing management
tasks such as marketing planning,
organising marketing activities
and coordination of activities
except project development and

! analysis.
| 178. (1} Increasing number of [armers
seeking flood insurance, is a
marketing opportunity for farm
Insurance company because as
| the number of farmers increase
who wants to insure their farm,
the business of company will also
increase automatically,
179 {2} Marketing environment
180.11} [t would be responding lo
marketing environment because
changes in fashion and tastes of
consumers, likes and dislikes of
consumers, are the forces in the
ervironment which have consider-
able influence on marketing
.. strategy.
;181 (2} Data processing is the process
-2 of collection and manipulation of
data to produce meaningful infor -
mation. Data is processed under
the control of set of instructions
: called programs.
182. (5) A backup refers to an opera-
(% tion or procedure of copying and
achieving of computer data to an
alternative location so that it may
" be used to restore the original if
%" deleted or becomes corrupted.
383, 12] A motherboard (also called
% mainboard/ system board/logic
& - board) is the main circuit board
35 in a computer. A motherboard
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% provides a way for hardware in
+  @computer to communicate with

- tach other. _
-._!s_“—lll A peripheral device is one
.= which is connected to a host com-
Puter but is not a part of the core
.. tomputer architecture. They are
= the hardware items for your com-
'E o5 puter like mouse, keyboard,
é_} Prisiter, monitor, etc. They are
k. Ctonnected with a computer
i through several 10O interfaces
4k, . 8uch as communications {com),
(o Universal serial bus (USB) and
7o~ Serial parts,
7 (3) The CPU (Central Processing
Unit) is the brain of the comput-
5y, =7 that contains the circuitry nec-
E 9554y to interpret and execute
¢ PTOgram instructions. It compris-

e5 ACU (to perform arithmetic cal-
culations such as addition, mul-
tiplication, etc and logical com-
parisons such as EQUAL To,
NOT, LESS THAN. etc.) and CU
(which co-ordinates the compo-
nents of a computer system). Most
of the processing in a computer
is done by CPLU,
186. (1) Computer hardware refers to
the physical parts or components
of a computer system that can
be seen or touched. It can be
categorized into Input devices
(keyboard, mouse, scanner, elg):
Outpul devices (printer, monitor,
speaker, etc) and storage devic-
es (optical disks, magnetic disks,
pen drives, elc),
(5) An cperating system is a sys-
tem soltware thatl directs a com-
puter's operations. controlling
and scheduling the execution of
other programs and managing
storage, input/output and com-
munication resovirces.
188. (4] As a measure of computer disk
storage capacity a megabyte [or
MB) is 2 to the 20th power bytes
or 1,048,576 bytes or
1,000,000 bytes approximately.
(2} A hard disk drive lor HDD) is
a non-volatile storage device for
digital data. That is, it is the com-
puter's main storage media de-
vice thal permanently store all
data on thé computer.
(4) A computer network is a group
of computers and other hardware
devices that are linked together
through communication channels
to facilitate communication and
resource- sharing among a wide
range of users
(1) A compact disc (CD) is a plas-
tic- fabricated. circular medium
for recording. storing and play-
ing back audio. video and com-
puter data. Different versions of
CD includes CD-ROM, CD-RW,
CD-W, eLc.
3] A software bug is a error, flaw,
failure or fault &3 a2 computer pro-
gram or system that produces an
incorrect or unexpected result or
causes it to behave in unintend-
ed wavs,
193. (4] A tape drive is a3 sequential
access devics T=osuse 1o get (o
point ‘g on U5s ape the drive

187.

189.

181,

192.

needs to pass UrTugh points 'a’
through g

194, (4] A wireless 2= tan refer o
any kind of cormo eETen agquip-

ment Uhal doesnl reguine ol s

ical wire lor relaying information
to another device, Wireless net
work utilizes radio waves and for
micro waves to maintain commu-
nication channels between com-
puters and other network devic-
e5

195. (3) The surlace of a loppy disk

is organized into circulygr rings
called tracks. Data is stored on
these circular lracks as tliny
spots. Thatis, Oand Isare vop
resenled magnelically Each
track is divided into pheshopel
groups of sectors.
196. (4) The componenls ol a compin
er can be broadly classified inue
Hardware and Sollware, Fard-
ware refers Lo any physical comn
ponent that can he seen or
touched, eg. CPU, monitor, key
board, etc. Software refers 1o the
programs which are reguired 10
operate the computer, 8. system
software, application software
efe.
(4] It takes eight bits to make up
an individual character (letter,
number or symbol} used in 1w
English language. Each individ
wal character is called as a byte

197.

Therefore, eight bits equal one |

byte. While a bit is the smallest |
unit of information, byles arc .

known as the building blocks lur

all information that fows throush |

a computer.

198, (1} Any meaningful information

that has been processed and |
comes out from a computer or |
computer device is consideres |

culput. Outpul can appear in
variety of forms- as binary num-

bers, as characters, as pictures.

sound and as printed pages.
I5) A peripheral device is a hard
ware device thatl is connecled wo
a computer through cable inte
several 1/0 interfaces such as
communications (com). univerasal
serial bus (USB) and serial paris
eg. mouse, printer, monilor, elc.
200, (3} In graphical user interiaces
such as windows and Macinlosh
environment, a folder is a con
tainer that helps to organize vour
files. Every [ile on your comput .
er is stored in a [oider. and lold-
ers can also hold other folders
(Sub-folder]. In DOS and UNIX.
folders are called direclories.
Rty i ot

199,



